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Sèrie 3 

 

Primera part 
Exercici 1  

Q1  b Q2  b Q3  c Q4  b Q5  a 

 
Exercici 2 
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Segona part 

 

 

OPCIÓ A 

 

Exercici 3 
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Exercici 4 

a) 
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OPCIÓ B 

 

Exercici 3 

a) = =elec nom t 26,25 kW hE P t  

b)
 paquet15 ; 36 sL Ln t

d v
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− η
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Exercici 4 
a) 2 46,80kgm b he= ρ =  

b) (O)=0 0 459,1 Nbm g b Fh F m g
h

⇒ − + = → = =∑M  

c) V H=0 459,1 N ; 459,1 NF m g F F⇒ = = = =∑F  

d)  Si la força F fos vertical hauria de ser més petita, en estar a més distància del punt O. 
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Sèrie 1 

 

Primera part 
Exercici 1  

Q1  d Q2  b Q3  d Q4  d Q5  c 

 
Exercici 2 

a) 
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Segona part 

 

OPCIÓ A 

Exercici 3 
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c) t buit p t( ) 75,35 kW·hE P P t= + =  
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Exercici 4 
a) (O) 0 cos 2 0 cos

2
m gm g L F L F= ⇒ − ϕ + = → = ϕ∑M  
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OPCIÓ B 

Exercici 3 
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Exercici 4 

a) 
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c) = = ⋅f 1,728 kW hE P t  
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